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Sample Paper – 2012
Class – XII
 ACCOUNTANCY  
PART A   -   NOT FOR PROFIT ORGANISATIONS, PARTNERSHIP FIRMS AND COMPANY ACCOUNTS
1.  When can Subscriptions be debited to Income & Expenditure A/c, in the case of Not For Profit Organisations?                                                                                                                         [1  Mark – 1.5 Minutes]

2.     List any two points distinguishing Intangible Assets from Fictitious Assets.                [2  Marks – 2 Minutes]

3.    What is the A/C that will be credited when an incoming partner does not bring in cash, but other assets towards his share of goodwill?                                                                                                [1  Mark – 2 Minutes]
4.    Name any two ways of generating funds for settling a retiring partner/executor of the deceased partner. 

                                                                                                                                                              [2  Mark – 2 Minutes]
5.    From the following Receipt and Payments account of  Dreamland Trust,  prepare Income and Expenditure Account for the year ended 31st. December, 2008 and a Balance Sheet as on that date after considering adjustments given below:

	Receipts & Payments Account

	
	Rs.
	
	Rs.

	Cash & Bank
	74,000
	Rent 
	5,500

	Sale of Investment
	90,000
	Salary
	14,000

	Donations
	20,000
	Telephone Expenses
	3,000

	Life Membership Fees
	10,000
	Postage & Electricity
	1,800

	Subscriptions: 2007           5,000
	71,000
	Furniture
	20,000

	                           2008         63,000
	
	Books
	3,000

	                           2009           3,000
	
	Investments
	1,50,000

	Interest on Investment
	2,000
	Help to Needy Students
	22,000

	Sale of Furniture [Book Value Rs.3,000]
	3,200
	Cash & Bank
	62,900

	Tournament Receipts
	12,000
	
	

	
	2,82,200
	
	2,82,200


            Additional Information:

a. Subscriptions for 2008, still owing, as on 31.12.2008, were Rs.7,000.

b. Subscription received in 2008 including Rs.4,000 from a new life member. 

c. The book value of investment sold was Rs.80,000.

d. Interest due on Investments, on 31.12.2008, is Rs.7,000.

e. Tournament is to be held in March 2009.

f. Rent has been paid for 11 months only.

g. Salary paid includes Rs.2,000 for the year 2009

h.   Telephone expenses include a quarterly rent of Rs.900, paid up to 28th Feb 2009.

i. The total furniture was Rs.12,000, and Books Rs.2,000, on 1.01.2008. 
j. Depreciate Furniture by Rs.3,000 and books by 15%.                                        [8  Marks –18  Minutes]

6.      P, Q and R are Partners in PQR & Co., sharing profits and losses as 4:2:1.  For the year ended 31.12.2010, the partners had annual drawings as follows: P – Rs.1,20,000, Q – Rs.90,000 and R – Rs.60,000.  P had drawn equally every month end; Q had drawn equally every mid-month, while R had drawn equally every month beginning. Calculate Interest on their drawings at 10% p.a.                  [3  Marks - 5 Minutes]

7.     The balances in Capital Accounts of D, E and F [PSR of 3:2:1], after all adjustments and transfer of profits, stood at Rs.16,00,000, Rs.12,00,000 and Rs.8,00,000, respectively, on 31.12.2010.   D, E and F had drawn Rs.4,00,000, Rs.3,00,000 and Rs. 1,80,000, respectively.  Subsequently it was discovered that Interest on Capital at 10% p.a. and Interest on drawings, D Rs.12,000, E – Rs.10,000 and F – Rs.6,000, were omitted.  The Net Profits for the year, already credited to their Capital Accounts, amounted to Rs.24,00,000.  Pass journal entry for recording the adjustment. Show your workings clearly.    
                                                   [4 Marks - 10 Minutes]

8.     From the following information, calculate the value of Goodwill by Capitalisation Method:

        a.  Net Trading results of the firm for the past years

           2000 - Rs.2,95,200 Profits;   2001 - Rs.2,92,600 Losses;  2002 - Rs.8,97,400 Profits

        b.  Rate of Interest expected from capital having regard to the risk involved is 15%.        

        c, Total Assets[including Copyrights of Rs.2,00,000]  are Rs.20,00,000, and Liabilities are Rs.9,00,000.                                                                  

 [3  Marks – 8 Minutes]

9.   When will premium paid by the incoming partner not be accounted?                         [1 Mark – 1.5 Minutes]

10.  The Balance Sheet  as on 31.03.2010 of A and B, partners, with PSR of 3:2 stood as follows:

	LIABILITIES
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	ASSETS
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	Sundry Creditors
	2,10,000
	Fixed & Current Assets
	5,10,000

	General Reserve
	1,20,000
	Advertisement Suspense
	30,000

	P & L Account
	50,000
	
	

	Capitals –     A & B
	1,60,000
	
	

	
	5,40,000
	
	5,40,000


         C  was admitted as a new partner for 1/5th share of future profits, for which he brought Rs.1,00,000 as Capital.  Pass necessary journal entries for Cash brought in by C.                               [4  Marks - 10  Minutes] 

11.   L, M and N are partners sharing profits as 50%, 30% and 20% respectively.  On 31.3.2010, their Balance Sheet stood as follows:

	LIABILITIES
	ASSETS

	Sundry Creditors 
	36,000 
	Building 
	 82,000 

	Workmen’s Compensation Provsn.
	10,000 
	Plant 
	31,000 

	General Reserve 
	25,000 
	Debtors              20,000 
	17,000

	Capitals         L      40,000
	
	  Less:     P.D.D.    3,000
	15,000

	                     M      40,000
	
	Stock
	

	                      N      30,000
	1,10,000
	Cash & Bank
	36,000 

	
	1,81,000 
	
	1,81,000 


  M retired on 31.03.2010 and the following arrangement was decided upon:

a. L and N decide to share profits and losses equally, in the future.

b. Firm's goodwill was valued at Rs.70,000 and it was decided to adjust M's good will into 

Capital accounts of continuing partners.                                   
c. The claim towards workmen's compensation is estimated at Rs.12,000.  
d. Provision for bad debts is to be at 1%.    
e. A Credit Purchase bill for Rs.2,600 is yet to be accounted.
f. Balance due to M was converted in to Loan due to him.

g. L and N decide to adjust their Capital in their new PSR, based on the total capital after all adjustments, by bringing in  / taking out cash.                                                    [6  Marks – 18 Minutes]

Prepare [a]Revaluation A/c,  [b]Partners' Capital A/cs, and  [c]Bank A/c.                                                               
12.    D, E and F were partners in a firm, with a PSR of 4:3:2.  E died on 1.09.2010.  


[a] His share of profits from the closure of the last accounting year till date of death was to be calculated on the basis of the average of three completed years of profits before  death.  Profits for 2007, 2008 and 2009 were Rs.5,00,000, Rs.9,00,000  and Rs.13,00,000, respectively.   


[b] Goodwill of the firm was to be calculated on the basis of 3 years purchase of the average profits of the last two years.


[c] He was entitled to an Interest at 10% p.a. on his Capital of Rs.24,00,000.


Calculate [i] E's share of profits, in 2010, till his death,  [ii] E’s share of Goodwill of the firm  [iii] His entitlement towards Interest on Capital.                                                                        [4  Marks – 10 Minutes]

13.   A,B & C are Partners with PSR of 3:2:1.On 31st/Dec/2003 Their Balance Sheet was  as Follows:

	Liabilities
	Rs
	Assets
	Rs

	Creditors
	68,500
	Cash
	26,500

	Bill Payable
	20,000
	Debtors
	52,000

	Provident Fund
	18,000
	Stock
	36,000

	Commission Received In Advance
	8,000
	Investment
	16,000

	Capital A/C’s:      A---80,000

                    B---50,000  

                    C---30,000
	1,60,000
	Plant
	90,000

	
	
	Profit & Loss A/C
	54,000

	
	
	
	

	
	2,74,500
	
	2,74,500


On this date the firm was dissolved. A was appointed to realise the assets. A was to receive 5% Commission on the sale of assets(Except Cash) & was to bear all expenses of realisation. 

A Realised the assets and paid liabilities,  as follows:

Debtors-Rs.30,000;    Stock-Rs.26,000;   Investment 75% Of Book Value;    Plant-Rs.36,000.  Expenses on Realisation paid by the firm amounted to Rs.4,000.   Commission Received In Advance was returned to the customers after deducting Rs.3,000.  Rs 31,000 had to be paid for Provident Fund.   Creditors were settled at Rs.3,500 less.    Prepare Realisation; Capital & Cash Accounts.               [8  Marks – 18 Minutes]

14 .  Premshare Ltd. issued 50,000 shares of Rs.10 each at a premium of Rs.2 per share,  payable as Rs.3 on application, Rs.5[including premium] on allotment, and the balance in equal instalments over two calls.  Applications were received for 75,000 shares and allotment was made as under:




Category A    
 Applied - 40,000

Allotted - 30,000




Category B    
 Applied - 30,000

Allotted - 20,000                  

        S who held 1,800 shares in Category A, did not pay allotment money and had to forfeit his shares after non-payment of first call.


C who had applied for 1,500 shares in Category B paid failed to pay the final call.

        Out of the forfeited shares, 1,000 shares  were reissued as fully paid up, at Rs.9 per share.  Pass necessary journal entries to record the above transactions.                                       [6  Marks - 16 Minutes]

15.   Name any two advantages when there is purchase of own debentures by a company as an investment.

[2  Marks - 2 Minutes]
16.  What is the difference between redemption of debenture out of capital and out of Profits?

[ 2  Marks - 2 Minutes]
17.  On 1.1.2009, Opdebuy Ltd., which had a balance Rs.10,00,000 in 8% Debentures [Rs.100 each], purchased Rs.2,00,000 of these, at Rs.92 per debenture for investment purposes ,[including brokerage of Re.1 per Debenture].  On 31.12.2009 it sold 1,000 of these own [bought] debentures at Rs.107.  On 31.12.2010, it decided to cancel the remaining own debentures.  Record necessary entries for purchase, sale and cancellation of own debentures, assuming the company has sufficient balance in Debenture Redemption Reserve Account.                                                                                           [4  Marks - 10 Minutes]

PART B  -  ANALYSIS OF FINANCIAL STATEMENTS
18.  Under what Major and Minor Headings will you fit the following accounts.

     a] Deposit with Customs Department.  [b] Uncalled Liability on partly paid up shares   [c] Interest Accrued and Due on Investments  f] Interest Accrued but not due on Loans.                         [1  Mark - 3 Minutes]

19.  From the following  prepare a common Size Statement.                                                 [4  Marks - 10 Minutes]
	 LIABILITIES
	2009
	2010 
	ASSETS
	2009
	2010 

	Equity Share Capital
	45,000
	60,000
	Net Fixed Assets
	60,000
	66,000

	Reserves & Surplus
	15,000
	24,000
	Investments
	10,000
	18,000

	Secured Loans
	20,000
	12,000
	Current Assets
	30,000
	36,000

	Current Liabilities
	20,000
	24,000
	
	
	

	
	100,000
	120,000
	
	100,000
	120,000


20. Would the following transactions increase/decrease/not impact the Current Ratio of 2:1 ?

 
a] Purchase Returns   [b] Dishonour of bill discounted   [c] Endorsement of cheque received.


d] Advance received from Customers                                                                                [2  Marks -4 Minutes]
21. Would the following transactions increase/decrease/not impact the Debt-Equity ratio of 1:3 ?

 
a] Open Market Purchase of Own Debentures for Investment Purposes   [b] Write off of Loss on Issue of Debentures by utilizing balance in Security Premium A/c   [c] Transfer of amounts from Shares Forfeited  A/c to Capital Reserve  A/c on reissue of forfeited shares  d] Receipt of Monies towards Calls in Arrears.     
                                                        [2  Marks - 4 Minutes]
22. Calculate the following ratios on the basis of information given below : 

    (i) Liquid Ratio(ii) Proprietary Ratio(iii) Operating Ratio

Information :

Sales Rs. 3,20,000;      Sales Returns – Rs.20,000;    Cost of Goods sold Rs. 1,20,000;     Selling expenses Rs. 80,000;  Administrative expenses Rs.40,000;  Current Assets[including Stock of   Rs.10,000] Rs.1,60,000;  Current Liabilities - Rs.1,00,000;   Fixed Assets Rs.3,80,000;  Investments – Rs.60,000; Equity Share Capital - Rs.3,75,000:  General Reserve Rs. 1,25,000.                              [4  Marks – 8 Minutes]      
23.   X Ltd. made a profit of Rs.1,00,000,  after considering the following, during the year.

a.  Depreciation of Fixed Assets Rs.20,000                                b.  Amortization of Goodwill Rs.10,000.

c.  Loss on Sale of Furniture Rs.1,000.                                        d.  Transfer to General Reserve Rs.14,000.

e.  Profit on Sale of Machinery Rs.6,000.                                   f.  Intereim Dividends Paid Rs.25,000.

g.  Interest On Investments Rs.8,000                                         h.  Interest on Mortgage Loan  Rs.12,000

i.  Provision for taxation made Rs.16,000,                                 j.  Income Tax Paid Rs.12,000

The following additional information is also available to you:

	Particulars
	31.3.2009
	31.3.2010

	Accounts Receivable
	44,000
	47,000

	Accounts Payable
	36,000
	42,000

	Prepaid Expenses
	1,400
	600


Calculate Cash Flow from Operating Activities.                                                                [6  Marks – 15 Minutes]                              
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